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SUPERFICIEMANZANA USO SUELO

S=2,516.81 m²MZNA 1 EV-01

S=6,020.18m²MZNA 2 H4-H1, MD4-1 Y MD4-2

S=14,780.87m²MZNA 3 EV-02

S=3,349.06m²MZNA 4 H4-U1

S=4,124.23m²MZNA 5 H4-U2

S=4,439.79m²MZNA 6 H4-U3 Y MD4-3

S=4,357.24m²MZNA 7 H4-U4

S=3,547.86m²MZNA 8 H4-U5

S=2,953.81m²MZNA 10 H4-U7 Y MD4-4

S=4,564.77m²MZNA 11 H4-U8

S=2,213.10m²MZNA 12 H4-U9

S=6,398.39m²MZNA 13 H4-U10

S=4,606.75m²MZNA 9 H4-U6

S=826.24m²MZNA 14 EV-3

S=7,662.97m²MZNA 15 H4-U11 Y H4-H1

S=2,338.36m²MZNA 16 H4-U12

S=1,604.68m²MZNA 17 H4-U13

S=2,969.31m²MZNA 18 H4-U14

S=4,517.96m²MZNA 19 H4-U15

S=1,874.14m²MZNA 20 H4-U16

S=2,031.80m²MZNA 21 H4-U17

S=5,898.01m²MZNA 22 H4-U18

S=585.92 m²MZNA 23 EV-04

S=898.73m²MZNA 24 H4-U19

S=2,220.15m²MZNA 25 H4-U20

S=5,133.71m²MZNA 26 H4-U21

S=689.64m²MZNA 27 EV-05

S=2,610.29m²MZNA 28 H4-U22

S=4,656.79m²MZNA 29 H4-U23, MD4-5 Y MD-6

S=3,795.07m²MZNA 16 EI-01


